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th Z™ollA AC o ZolE Fstoizt

AC = 200sin 30°
= 200 x % = 100 cm
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& 27417k ABC oA (A = 34° <
o, 0] BC & Fatofat. (, sin34° =
0.5592, cos 34° = 0.8290 )

>
> & 11184 cm

BC
in34° = —
sin 20

. BC =20x%0.5592 = 11.184 (cm)




4.  oFF 1T 22 AABC oflA &0l h B FoHAE?

© 10(V2-1) (@)10(«/5—1) ® 10 (V3 - V2)
@ 10(2v2-1)  ©® 10(V2-2)

B

20
h

~ tan (90°2 — 45°) + tan (90° — 30°)




@® (3-V3)m @ (3V3-3)m
@ (4V3+1)m @(3\/§+3)m

® (4V3-1)m

Ste] =olE h 2 otH

/CBH = 45° o]0 2 BH = h

(CAH = 30° 0|2 &

64+h:h=+v3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1) =3V3+3(m)




oh& 2-3 o] LA = 60°, AB =
5cm , AC = 9cm €1 AABC ©f|A BC
of Zo]g Fafolet.

>
> H= . V61 cm

BH = 55in60° = 5 x %g - %g(cm)

AH = 5c0s60° = 5 x % = §(cm)
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@ gcm @ ?jTlcm @ ZCHI
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sinC—g o 4 AH = 3(cm)
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B=—
4
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BH:%(cm)
HC =52-32 =42
- HC = 4(cm)




8. &I 22 AABC oA AC ©] ZolE otefeh.
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=46 ot}




9. & AABC oA LA =45°, /B = 175°,
AB = 12cm € ©}, BC 9] Zo]& 5}

2t
> E
> gE

46 cm

AT~.

“-12em -7

4V6( cm)

12 sin45° = xsin 60°

125 o Y105 B
122 126
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10.

o2 132] AABC °|A AH 2] Zo] A

9

@ 25(V3-1) @25(3—«/5) ® 25vV3-1
@ 50V3-1 ® 50V3+1

B

BH=a}35tHa:AH=1: V3
olm g
AH = V3a
CH =AH = V3a,BC =a+
V3a =50

50
V34+1

(14 V3)a=50, a=

25(V3 - 1)
- AH = V3x25(V3-1) = 25(3—
V3)




11. t©S AABC oA =0 h & 5}z

>
> ®eh: 6vV3-6
12

h =
tari gO" + tan 45°

T B+1
=6(V3-1)




12.

th& 13 9] A7 ABC oA AB =
10cm, zA = 30°,«,CBH = 60° ©]t}.
CH 9] Zdo]& szt

AB =BC = 10(cm)

CH = 10sin60° = 10 x ‘/75 — 53(cm)




13. o2 24 U5 ol h & Fotefet. (2, V3 = 1.7 2 Ate

)
A
Q&T
) h

=

/BAC = 30° 0|22
BC = AC = 20(m)
AACD of| A

h = 20sin 60° = 20 x ‘/75 = 10V3 = 10x 1.7 = 17(m)

S h=17m




14. thg 104 AABC ¢ Ho]Z 5}
2t
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\VARR 4
N

0.
1)

.I

n

fI 544+18V3

B ,
AH =12c0s60° =6
BH = CH = 125in60° = 6 V3
AC=AH+CH=6+6V3
w2} A AABC 9] Hol=
%x 12 x (6 +6V3) x sin60° =
54 4 18 V3 o]t}




15. o5 193 Zol 443 ABC <A A
BC = 10ecm , AH 1L BC, Z/ABC = .
40°, tACB =50° 4 o], CH 9] Zo] !
=7 (&, tan50° = 1.2, tan40° = 0.8 :

[l
) B< i >C

TT=-10em-""

@ 2cm @)4 cm ® 5cm @ 6cm ® Tcm

CH = xcm 2} 5tH AACH |4 AH = xtan50°
AABH |4 AH = (10 — x) tan40°
xtan 50° = 10tan40° — xtan 40 °
x(tan 50 ° + tan 40°) = 10 tan 40 °
10tan 40° 10x0.8

* T fanb0° + tand0° 12408

4(cm)




16. tg I™oA BC = 4em, /B = 30°, /ZACH = 45° Y ], AABC 2]

wole?
A
) A5
~dem- C
@ 5cem? @ Tcm? ® 3(V2+ 1)em?

@ 3(3- V2)em? @4( V3 + 1)cm?

~&B

AH = xcm 2 51'd CH = xcm

o __ X _L
AABH oA tan 30 =10
\/§x:4+x,(\/§—1)x:4
4

AABC:%x4x2(\/§+1):4(\/§+1)(cm2)




